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Identify the vertex of each.  Then sketch the graph.

1)  y = 3x2 + 18x + 22
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2)  y = x2 − 10x + 23

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

3)  y = −x2 − 2x − 7
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4)  y = x2 − 6x + 5
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5)  y = x2 + 12x + 39
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6)  y = −x2 + 12x − 37
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7)  y = −3x2 − 30x − 80
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8)  y = −x2 + 4x − 6
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9)  y = x2 − 12x + 36

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

10)  y = x2 + 6x + 4
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11)  y = −3x2 − 6x − 7
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12)  y = x2 + 12x + 38
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13)  y = 2x2 + 16x + 30
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14)  y = x2 − 4x − 1
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15)  y = −x2 + 6x − 8
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16)  y = 2x2 + 16x + 26
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17)  y = −x2 − 8x − 14
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18)  y = −3x2 − 12x − 16
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19)  y = x2 − 6x + 7
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20)  y = 2x2 + 12x + 12
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Identify the vertex of each.  Then sketch the graph.

1)  y = 3x2 + 18x + 22
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2)  y = x2 − 10x + 23

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8 Vertex: (5, −2)

3)  y = −x2 − 2x − 7
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4)  y = x2 − 6x + 5

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8 Vertex: (3, −4)



©M [2]0_2E0G eK[uqtza` [Szosfbtsw`akr[ee eLuLuCt.T l gAKlPlV crUiAgAhIths` frxebsKeIrgvPeddF.v d KMvaPdEek BwniJtmhc ]IBnAfxicnbijtpes NPmr\eGcKaElwc]uPlSuesS.

Worksheet by Kuta Software LLC
-2-

5)  y = x2 + 12x + 39
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8 Vertex: (−6, 3)

6)  y = −x2 + 12x − 37
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8 Vertex: (6, −1)

7)  y = −3x2 − 30x − 80

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8 Vertex: (−5, −5)

8)  y = −x2 + 4x − 6
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9)  y = x2 − 12x + 36
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8 Vertex: (6, 0)

10)  y = x2 + 6x + 4
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11)  y = −3x2 − 6x − 7
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12)  y = x2 + 12x + 38
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13)  y = 2x2 + 16x + 30
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8 Vertex: (−4, −2)

14)  y = x2 − 4x − 1
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15)  y = −x2 + 6x − 8
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16)  y = 2x2 + 16x + 26
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8 Vertex: (−4, −6)

17)  y = −x2 − 8x − 14
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18)  y = −3x2 − 12x − 16
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19)  y = x2 − 6x + 7
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8 Vertex: (3, −2)

20)  y = 2x2 + 12x + 12
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